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Christmas Multiplication

Solve the following word problems.

Santa has 123 Christmas trees and each tree has 7
stars. How many stars are there in total?

There are 345 households in a small fown. Each
household has put up 8 Christmas lights. How
many Christmas lights are there in total?

A Christmas factory produces 456 candies per day.
If they produce the same amount for 9 days, how
many candies will they have produced?

Santa’'s workshop has 789 elves. Each elf makes 6
toys per day. How many toys are made per day?

A Christmas store has 234 Christmas wreaths. Each
wreath has 5 red bows. How many red bows are
there in total?

A town has 567 houses. Each house has 4
Christmas stockings. How many Christmas
stockings are there in total?

A Christmas tree farm has 345 trees. Each tree has
9 ornaments. How many ornaments are there in
total?

8 A toy factory produces 123 toy cars every day. If
they produce the same amount for 7 days, how

ﬂany toy cars will they have produced?
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